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Monopolistic competition

By Peter Lohmander 2002-09-06, www.Lohmander.com
The production cost etc.

The demand for the product, Q, is a function of the size of the total market, S, the number of firms, n, the price, P, and the average competitor price, 
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P

. Initially, we assume that all firms charge the same price. All firms have the same type of cost function with a fix cost, F, and a variable cost per unit, c.
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We just found that the average cost is an increasing function of the number of firms and a decreasing function of the size of the total market. 

The profit maximization problems and the market solution

The average price of the competitors is assumed exogenous to the individual firm. The individual firms try to maximize their profits by using the rule that MR = MC. The MR is the first derivative of the revenue function, R = P(Q)*Q, with respect to Q. Then, MR = marginal production cost, c.
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The optimal decisions at the firm levels imply that MR = MC.
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We already know that 
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from the earlier observation that all firms have the same market share (since they by assumption charge the same price.)

Hence, we conclude that 
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The long run market equilibrium solution is such that the market price equals the average production cost.

Hence,  P = AVC
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This gives:
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Since n >= 0, we know that 
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Examples:

In Table 1. , we find the numbers of firms to be expected in the long run. 

Table 1.

Assumptions: F = 750 000 000 and B = 1/(30 000).
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